NJDOT EE# 0210-85

2-1/2” DIA.

1/2'R 2" DIA;

5/8" DIA. 2-1/2“ DIA.
! 1/8"
I 1/2” DIA _”_
N\ .
K /%)
- = — = & ._ - B _
[V
/&
77 —
1/4'R » - WASHER
| 72 TEETH 5°APART MATL.  ALUMINUM
3l
S/16 STN., STL., HEX NUT A g4h6—é$l_x 2;664‘ 2-1/2"
[ ] 5/16” STN., STL. LOCKWASHER . N N (ALL THREAD) 2"
— —./_2—1/2“ ALUM. WASHER 0 1/16" R g S n
I . IL : S 3/16"R _\, . w — | | 3/32° R~
S ' AN | ~/F 4 | 5 1/32"R \ - 1747 .
| g e
\ , j_ - N N
4 A U
17 3/8 ) LR
3/8"R
——3/32"
NTS SECTION A-A
MATL., ALUM ALLOY 356
NOTES: FINISH = FED YELLOW POWDER COAT
. EACH T-BAR ASSEMBLY SHALL CONSIST OF:
(1>-T-BAR
o ALUM WASHERS 2 WAY T—BAR BRACKET
(2)-5/16" DIA. STN., STL. LOCKWASHERS ,
(2)-5/16% STN, STL. HEX NUTS Signal Control Products, Inc.
2. FOR USE WITH 2-WAY HOLLOW SPIDER ASSEMBLIES -
WHERE SIGNAL FACES ARE SAME SIZE AND CONFIGURATION. 199 Evans Way, Branchburg, NJ 08876-4600
Ph: 908-2331-1133  Fax: 908-707-0333




3-Way T-Bar Bracket

T-BAE

NTE
MaTL, ALUM aLLOY 355

Notes:
1. EACH T-BAR ASSEMBLY SHALL CONSIST OF:
(1) - T-BAR

(3) - ALUM WASHERS
(3) - 5/16” DIA. STN. STL. LOCKWASHERS
(3) - 5/16” STN. STL. HEX NUTS

2. FOR USE WITH 3-WAY HOLLOW SPIDER ASSEMBLIES WHERE
SIGNAL FACES ARE SAME SIZE AND CONFIGURATION

* A 4-Way T-Bar Bracket is also available from
SCP.

F Ik SHE FED YELLUW FWHE = CC&T

3-WAY T—BAR BRACKET

signal Contral Mroducls, In:
1595 Evans Way, Branchburg, NJ U887 u-461U0

Pr 9002331 1133 Fax: 908707 0333




